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	ЗАВДАННЯ

ІНОЗЕМНА МОВА ПРОФЕСІЙНОГО СПРЯМУВАННЯ



	№

п/п
	Текст завдання



	1.
	Many companies nowadays use the internet to ____ goods and services to customer.

	2.
	Jack Russell and Ray Fox are the _______ of a film company that makes cartoon films.

	3.
	They decided to ________ the company after making a video together at university.

	4.
	Advertising companies need good ____


staff.



	5.
	Before you ask a bank for money, it is

important to prepare a good ______.

	6.
	When you have a meeting with new business   

partners, it is important to be ______.

	7.
	Some of the items were damaged so the buyer made a/an_______.

	8.
	Senior managers are responsible for their subordinates in the organisational____
.

	9.
	I think we should offer a five per cent _____ to encourage people to buy more.

	10.
	_____ are people who have new ideas

and think of new ways to do things.

	11.
	We've reduced the price by 15 per cent, 

so the buyer is getting a good ____.

	12.
	We ask customers for their_____to help us improve.

	13.
	Ferdinand is hoping to go abroad to work in 

one of his company's _____offices.

	14.
	On the_______line, the parts are put

together to make the finished product.

	15.
	Our staff are important______which we

try to use efficiently.

	16.
	Several companies worked together on a _____to launch the new satellite.

	17.
	We use a system of just-in-time_____ , to reduce the cost of keeping large stocks.

	18.
	Bill Sorter, a finance manager, has____

for a team of 12 accountants.

	19.
	Advertising companies need ____good staff.

	20.
	It was a difficult problem, so they had a ___ meeting to collect some ideas.

	21.
	Our regional _____ will visit you and show you our product range.

	22.
	When we had a fire, the insurance company paid the cost of the ____.

	23.
	Doug Richards is a successful____ who started a number of profitable businesses.

	24.
	We increased____ on production and this has reduced our profit margin.

	25.
	We_______a football club, so our

company name is on the players' shim.



	26
	The product has a one-year____,so

just bring it back if you have any problems with it.



	27.


	The economy is weak, with high ______
and unemployment 

	28.
	We collect information about our customers and store it on a_____.



	29.
	John is
 _____ for a better job in a

different company.

	30.
	The team did a brilliant job so the company

decided to ______ each of them with a

large bonus.

	31.
	Industry is______

	32.
	Employee is_______

	33.
	Employment is______

	34.
	Manufacture is_______

	35.
	Retailer is________

	36.
	Sector is_______

	37.
	Distribution is_______

	38.
	Start-up is ______

	39.
	Profit is ______

	40.
	Return on investment is _______

	41.
	Venture is_______

	42.


	Funds is ______

	43.
	Investment is _______

	44.
	Joint venture is_______

	45.
	Venture is______

	46.
	Return on investment is ______

	47.
	Unemployment 

	48.
	Headhunting

	49.
	Сurriculum vitae

	50.
	Profit margin

	51.
	Fraud

	52.
	Insurance policy

	53.


	Waste 

	54.
	Efficiency

	55.
	Production 

	56.
	Brainstorming 

	57.
	Bonus 

	58.
	Motivation 

	59.
	Job satisfaction

	60.
	Reward 

	61.
	A new business needs its own name and a product. The challenge is to make goods and services that satisfy customers, are competitive and sell at a price that more than covers costs.

Which of the following does every business do?

	62.
	Most small businesses have very limited resources. Research is costly and can seem like a poor use of time. Some entrepreneurs ignore planning and analysis and instead rely on their gut instinct. They launch products they believe customers want and competitors cannot match. Poor planning is a major cause of business failure.

How do you reduce the risk of starting a new business?

	63.
	The skill involved in wanting to start and run a business is called enterprise. The individual who sets up their own business is called an entrepreneur.

What do you call an individual who sets up their own business?

	64.
	Making a profit. A business does this by selling items at a price that more than covers the costs of production. Owners keep the profit as a reward for risk-taking and enterprise.

What is profit reward for?

	65.
	A business plan is a report by a new or existing business that contains all of its research findings and explains why the firm hopes to succeed. A business plan includes the results of market research and competitor analysis. Analysis is when a business interprets information.

What helps owners identify their aims and competition?

	66.
	In order to attract and satisfy customers, businesses need to be competitive and make products that are superior to their rivals. A competitive market will have many businesses trying to win the same customers.

What is it called when multiple business are trying to win the same customers?

	67.
	Businesses operate in competition with each other. If the market is large enough to support many firms, a new business can open which imitates an existing idea. «Me too» products can sometimes be successful. However, businesses become more competitive by making products that stand out from the competition in terms of price, quality or service. This is called product differentiation.

What is product differentiation?



	68.
	A competitive market will have many businesses trying to win the same customers. A monopoly is either the only supplier in a market, or a large business with more than 25% of the market.

What percentage of the market does a large company need to be over to have a monopoly?

	69.
	Methods of creating product differentiation include:

- a strong brand image

- a unique selling point

- competitive factors

Which of these is a method of product differentiation?

	70.


	Methods of creating product differentiation include:

- a strong brand image

- a unique selling point

- competitive factors

What helps to create brand identity?

	71.
	Customers who are satisfied are less likely to complain. Having fewer complaints to deal with contributes to a business having a more motivated work force.

If a company has a good reputation and operates with a low level of customer complaints then that business is likely to attract a higher calibre of employee. If customers receive a good quality service they will be more likely to return. This will lead to increased sales and profits. It would also mean that customers do not take their business to competitors.

Why are satisfied customers important to a business?

	72.
	Cherry is a professional DJ. 

Which of the following is most likely to be a supplier to her business?


	73.
	A business adds value when the selling price of an item produced is higher than the cost of all the resources used to make it. Think of a pair of designer sunglasses which sell for £100. If the cost of the materials, employees, marketing and all other inputs used in making one set of sunglasses is just £20, then £80 worth of value has been added by the firm during production.

When does a business add value?

	74.
	There are three main types of industry in which firms operate. These sectors form a chain of production which provides customers with finished goods or services.

Primary production: this involves acquiring raw materials. For example, metals and coal have to be mined, oil drilled from the ground, rubber tapped from trees, foodstuffs farmed and fish trawled. This is sometimes known as extractive production.

Secondary production: this is the manufacturing and assembly process. It involves converting raw materials into components, for example, making plastics from oil. It also involves assembling the product, eg building houses, bridges and roads.

Tertiary production: this refers to the commercial services that support the production and distribution process, eg insurance, transport, advertising, warehousing and other services such as teaching and health care.

Which industry sector is an advertising agency part of?

	75.
	Businesses buy the products they need from suppliers – firms selling products to other businesses - and sell to customers. The individual who uses the product is called a consumer. Sometimes the customer and consumer are different people - for example, parents buy a pen for their child to use at school.

What is the individual who buys a product called?

	76.
	Nearly half a million businesses start up each year. A business start- up is a new firm operating in a market for the first time.

What is a business start up?

	77.
	There are three main types of industry in which firms operate. These sectors form a chain of production which provides customers with finished goods or services.

Primary production: this involves acquiring raw materials. For example, metals and coal have to be mined, oil drilled from the ground, rubber tapped from trees, foodstuffs farmed and fish trawled. This is sometimes known as extractive production.

Secondary production: this is the manufacturing and assembly process. It involves converting raw materials into components, for example, making plastics from oil. It also involves assembling the product, eg building houses, bridges and roads.

Tertiary production: this refers to the commercial services that support the production and distribution process, eg insurance, transport, advertising, warehousing and other services such as teaching and health care.

Which industry sector are raw materials a part of?

	78.
	Satisfied customers will continue to use a business and contribute to its profits. Customer care strategy

 lets the customer know what level of service to expect and how complaints will be handled.

What is the purpose of a customer care strategy?



	79.
	In order to create goods and services, a business buys or hires inputs such as raw materials, equipment, buildings and staff. These inputs are transformed into outputs called products. These products are the goods and services used by consumers. Production is the business activity of using resources to make goods and services.

A business adds value when the selling price of an item produced is higher than the cost of all the resources used to make it. Think of a pair of designer sunglasses which sell for £100. If the cost of the materials, employees, marketing and all other inputs used in making one set of sunglasses is just £20, then £80 worth of value has been added by the firm during production.

Which of the following describes the money going into a business?



	80.
	The chain of production shows interdependence: firms rely on other businesses in different sectors for raw materials, components or distribution.

What is an example of firms relying on suppliers?

	81.


	Sole trader:

Makes own decisions;

Work long hours;

Keeps the profit. 

What is the main advantage of being a sole trader?

	82.
	A limited company has special status in the eyes of the law. These types of company are incorporated, which means they have their own legal identity and can sue or own assets in their own right. The ownership of a limited company is divided up into equal parts called shares. Whoever owns one or more of these is called a shareholder.

Because limited companies have their own legal identity, their owners are not personally liable for the firm's debts. The shareholders have limited liability, which is the major advantage of this type of business legal structure.

Who is limited liability an advantage to?

	83.
	Partnerships are businesses owned by two or more people. Doctors, dentists and solicitors are typical examples of professionals who may go into partnership together and can benefit from shared expertise. One advantage of partnership is that there is someone to consult on business decisions.

What is a partnership?

	84.
	Management (or managing) is the administration of an organization, whether it is a business, a not-for-profit organization, or government body. Management includes the activities of setting the strategy of an organization and coordinating the efforts of its employees (or of volunteers) to accomplish its objectives through the application of available resources, such as financial, natural, technological, and human resources.

Who is a company controlled by?

	85.
	A limited company has special status in the eyes of the law. These types of company are incorporated, which means they have their own legal identity and can sue or own assets in their own right. The ownership of a limited company is divided up into equal parts called shares.

What legal identity does a company have in the eyes of the law?

	86.
	The franchisor is the original or existing business that sells the right to use its name and idea.

What is a business that sells the right to use a business idea?

	87.
	Customers are important to a business as they are the people who buy the goods or services it provides. If customers are not satisfied the business will not be able to sell its goods or services, therefore no profit will be made and the company may go out of business.

Customer satisfaction relies on good customer service. Customer service is the service a consumer receives before, during and after they have purchased a good or a service.

What is customer service?

	88.
	An entrepreneur can opt to set up a new independent business and try to win customers. An alternative is to buy into an existing business and acquire the right to use an existing business idea. This is called franchising.

A franchise is a joint venture between franchisee and franchisor.

Franchisee is an individual or company that holds a franchise for the sale of goods or the operation of a service.

Who is a franchise bought by?

	89.
	The main disadvantage of a partnership comes from shared responsibility. Disputes can arise over decisions that have to be made, or about the effort one partner is putting into the firm compared with another. Like a sole trader, partners (who have not registered as an LLP) have unlimited liability.

Which type of business does NOT usually have limited liability?

	90
	Unlimited liability means that the business owner or owners are personally responsible for all of the debts of the business, no matter what the value.

Who has legal responsibility to settle debts in a company with unlimited liability?

	91.
	Enterprise is a skill. Put simply, enterprise is the willingness of an individual or organisation to:

Take risks. Setting up a new business is risky. Even if the entrepreneur has carefully researched the market, there's always a chance that customers may reject the product and that a loss will be made.

Which of the following is an example of enterprise?

	92.
	Enterprise is a skill. Put simply, enterprise is the willingness of an individual or organisation to:

Take risks. Setting up a new business is risky. Even if the entrepreneur has carefully researched the market, there's always a chance that customers may reject the product and that a loss will be made.

Show initiative and 'make things happen'. Successful entrepreneurs have the drive, determination and energy to overcome hurdles and launch new businesses.

What is it important for an entrepreneur to do?

	93.
	Invention is about making new items, or finding new ways of making items. Innovation involves bringing this new idea to the market, that is, turning an invention into a product. 

What is innovation?

	94.
	Register ownership of an invention or new process and be given a patent. This can stop rivals from copying the idea for a set number of years.

How can the law protect a new business idea?

	95.
	Entrepreneurs can make use of several different thinking techniques to improve their creativity:

Lateral thinking or thinking outside the box. An example of this would be breaking down the steps taken to serve coffee in a café and asking 'why' at each step to see if a better process can be created.

Deliberate creativity uses thinking techniques to spark off new ideas. For example, putting on different thinking hats to tackle problems from different angles. 'White-hat' thinking looks at facts and 'black-hat' thinking looks at drawbacks.

Blue-sky thinking involves a group of people looking at an opportunity with fresh eyes. As many ideas as possible are generated in an ideas generation session, where no ideas are rejected as silly.

Which of the following best describes deliberate creativity?

	96.
	Entrepreneurs can make use of several different thinking techniques to improve their creativity.

Lateral thinking or thinking outside the box. An example of this would be breaking down the steps taken to serve coffee in a café and asking 'why' at each step to see if a better process can be created.

How can an entrepreneur create a competitive advantage?

	97.
	Important enterprise skills

So what does it take to be a successful business person? Typically entrepreneurs are:

imaginative and quick to see business opportunities and gaps in the market

planners who take time to research customer requirements, competitors and trends to better understand their market and minimise the risk of failure

determined to succeed no matter how many hours of unpaid preparation are involved

What is enterprise?

	98.
	Most business owners don't take a salary but are paid from profits.

Who is profit paid to?



	99.
	Register ownership of an invention or new process and be given a patent. This can stop rivals from copying the idea for a set number of years.

How would a drug company stop rivals from copying a new drug?

	100.
	Register a trademark. A trademark is a symbol or phrase that a company can register with the government to make their company distinctive.

What would a manufacturer use to stop rivals from using their name on copied products?

	101.
	An aim or objective is a statement of what a business is trying to achieve over the next 12 months. 

What is a business objective?



	102.
	An aim or objective is a statement of what a business is trying to achieve over the next 12 months. For example, a business can set itself any of these targets:

growth

survival

increased profit

increasing market share

What is the first aim of a business?

	103.
	In most businesses, the owners decide on the objectives for the business.

Who normally decides on business objectives?



	104.
	All staff are involved in discussing and agreeing an aim. Having an objective is useful because it helps staff to focus on shared aims.

What does an objective mainly help staff to focus on

	105.
	While owners have a major say in deciding the aims of a business, other interest groups called stakeholders are usually considered. Stakeholders are any group of people interested in the activities of the business - they could be managers, staff or customers. When owners sacrifice some profit to pay staff an annual bonus, this is an example of stakeholder consideration.

Who are stakeholders?

	106.
	Some owners have a vague idea about their objectives. The best types of objective are SMART, which stands for:

Specific: clearly state what is to be achieved, eg increased profits.

Measurable: the desired outcome is a number value that can be measured, eg increase profits by 10%.

Agreed: all staff are involved in discussing and agreeing an aim.

Realistic: the target is possible given the market conditions and the staff and financial resources available.

Which of the following best describes a financial objective?

	107.
	While owners have a major say in deciding the aims of a business, other interest groups called stakeholders are usually considered. Stakeholders are any group of people interested in the activities of the business - they could be managers, staff or customers. When owners sacrifice some profit to pay staff an annual bonus, this is an example of stakeholder consideration.

What is an example of stakeholder consideration?

	108.
	A small start-up business may aim to survive in the first year. Once successful, the business then sets itself the objective of increasing profits or growing in size.

In the long run, what is it that all private sector firms must aim to do?

	109.
	An example of a SMART objective is 'to increase profits by 5% within the next 12 months'. SMART objectives allow the performance of a business to be assessed.

Which is the best example of a SMART objective?

	110.
	A small start-up business may aim to survive in the first year. Once successful, the business then sets itself the objective of increasing profits or growing in size.

Increasing market share is an example of:

	111.
	Public sector organisations are owned by the government. They provide goods and services for the benefit of the community.

They are run by the government. They operate with money raised from taxes.

Which sector of economy is run by the government?

	112.
	The private sector has different types of business ownership. The most common ones are:

sole trader

partnership

private limited company

Limited companies are found in which sector of economy?

	113.
	The public sector means the organisations run by government that exist to provide a service for the population and communities. Money to pay for these is raised through a variety of taxes

How do public sector organisations raise finance?

	114.
	A sole trader is a business owned by one person.

They are usually small in size.  Sole traders rely on their own savings, bank loans or loans from friends and family to finance their business.

Advantages:

Sole traders keep all the profit they make for themselves. Starting up as a sole trader is legally the easiest of all types of ownership. 

Disadvantages:

Sole traders take on all the risks of starting their own business and have the disadvantage of unlimited liability. A sole trader is liable for the organisation’s debt. This means that personal assets such as a car or house are at risk of being sold to pay off business debts. Sole traders can only raise limited finance. They will receive money from family and friends or use their own savings. They might get a bank loan but only if the bank is convinced that the sole trader’s business plan will work.

Which of the following is a disadvantage of being a sole trader?

	115.
	A partnership is a business set up by the deed of partnership document.

The deed of partnership document sets out the terms of the partnership. For example it states how much money each partner invested in the partnership and what role each partner will have in the partnership.

A partner who invests but is not involved in the day-to-day running of a partnership is called a sleeping partner.

What is a sleeping partner?

	116.
	Partnerships can have a minimum of 2 and a maximum of 20 partners.

What are the minimum and maximum number of partners allowed in a partnership?

	117.
	Limited liability -the condition by which shareholders are legally responsible for the debts of a company only to the extent of the nominal value of their shares.

What does limited liability mean?



	118.
	Local government in Scotland is organised through 32 unitary authorities designated as councils which consist of councillors elected every five years by registered voters in each of the council areas.

How many levels of government do we have in Scotland?

	119.
	A social enterprise is an organisation form a third sector that exists with a clear goal to help the community but runs the organisation like a business. All profits are reinvested back into the organisation.

Which sector of economy is a social enterprise organisation found in?

	120.
	Third sector organisations are owned and run voluntarily by trustees.

Who is appointed to run a charity?


